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1) Predimensionado      

 hmin = Luz_ 

    20     

d = h - recubrimiento 

 

2) Cargas 

 

gpiso = 0,20 KN/m2 

 

gcarpeta = 0,03m . 16 KN/m3 = 0,48 KN/m2 

 

glosa = (h + 0,07m) . 24 KN/m3 

           cos  =  

p = 3 KN/m2 (por código)         

 

Luego mayorar las cargas para obtener qu 

 

3) Mu = qu.L2 

               8 

4) Armaduras 

mn =           Mu    __       → ka → As  

         0,9 .1 m.d2.0,85. f´c        
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V1 

V2 

V3 

V4 V5 V6 

tensor 

1) Predimensionado      

hmin = Luz_ = 300 cm = 15 cm  d = 12,5 cm 

       20     

2) Cargas 

 

gpiso = 0,20 KN/m2 

 

gcarpeta = 0,03m . 16 KN/m3 = 0,48 KN/m2 

 

glosa = (0,15 m + 0,07m) . 24 KN/m3= 6,6 KN/m2 

           cos  =  

p = 3 KN/m2 (por código)         

 

D = 7.28 KN/m2    L = 3 KN/m2 

 

qu = 1.2x7.28 KN/m2 +1.6x3 KN/m2= 13,54KN/m2 

 

3) Mu = qu.l2 = 13,54KN/m2 x (3 m)2 = 15,23 KNm 

               8                     8 

4) Armaduras 

mn =              15,23 KNm                __ = 0,064 ka = 0,066 

       0,9 1m .(12,5 cm)2.0,85. 2 KN/cm2       

 

As = 0,066.100 cm .12,5 cm 0,85. 2 KN/cm2 = 3,34cm2 

    cm    

                                                      1  c/14 cm 

Calcular la escalera 

H20 

V1 

V3 

V3 

V6 

V1 

3 m 

Vesc 


